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choose the correct answer: :M‘ a—.“éy‘ Q:‘i‘
I Adlall Aaiel) s dalecal) cu 5 (1)

— i naa f(x)=x3—-1 on[-1,1] ,n=100
(S 9w & yetl) Q@\Me‘&Q.QW\

I Approximates the area under the curve for the
function, n = 100, f(x) =x3 -1 on[-1,1]
where n is the number of rectangles. Using the left
endpoint is equal to

(a) =~—1.98 (b) = -2
(c) =~ —2.02 (d) = 2.02

L

Al el cad dalual) o i (2)

C e pnias f(x) =e ? on[-1,1] ,n=16
st Chuaiial) AaS aladinly | ekl

mApproximates the area under the curve for the function,
(/)n = 16,f(x) = e %* on[—1,1] wheren s the
number of rectangles. Using the midpoint is equal

(a) =~ 4.0991 (b) =~ 3.6174
(c) = 3.1924 (d) =~ 21924

L) ag8 5 ) g danal) ey agagd) aglll
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Al iaial) caad Aabeal) o & (3)

I we o f(x) =cosx on [0,%] ,mn=>50
b Aaal) Algil) ddadl aladialy | cdllaioal)
pproximates the area under the curve for the
wheren function,n = 50, f(x) = cosx on [0,%]

>is the number of rectangles. Using the right-hand
endpoint is equal to

I_ (a) ~1.0156 (b) ~ 1.00004

L

(c) ~1.1924 (d) =~ 0.9842

adjau g:nln.“ <t dabaal) asil sUanal) 43040 e,\é addiul (4)
( M‘ dlgdl) ddais e,ﬁ aladial

Use the values of the given function to estimate the area

U)under the curve for the function using the left-hand
endpoint values

x | 1[12]1416]18] 2 [22]|24]|2.6
f(x) 004/06/08/12/14|12 14| 1

(a) =1.60 (b) = 1.006

(c) =1.06 (d) = 1.90

LY agd 50 daaal) dlay) agagd) agll
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o= 6 ladic[—2, 1] 550l e 455l yalie (ST (5)

I Write the hash items over the period [-2, 1] whenn=6

=——(a){-2,—1.5,—1,-0.5,0.25,0,1}

I_ (b){—2,—1.5,-0.5,0,0.5,1}
(¢){—2,-1.5,-1,-0.5,0,0.5,1}
(d){—2,—-1.5,—1,-0.25,-0.5,0.5,1}

3 e eeee |0, 4] 3530 e 25523 palie S (6)

I Write the hash items over the period [0, 4]

Al

LA ...,4} ) {o,

gl gl e 30 1{3,3.1,3.2, .o .., BRI 251 L3 (7)

I I Iln the regular split {3, 3.1, 3.2... 8} Find the number of
partial periods

Z (@)30 (b)40 (€)60 (d)50

00971503393009 -4~ (Cpadl) Gmes A
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4
f(?,h(x) +2x — 4) dx 2= f42h(x) dx = 10 X1 (8)
1 1
(@)18 (b)36 (c) —18 (d)10
3
3
f (3f(x) — 4h(x)) dx = —1, f f(x)dx = 5 sl (9)
1
1
3
fh(x) dx 2>
1
(a)8 (b)3 (©)4 (d)6

2
8

f4f(x) dx = 28 f 3f(x)dx = 15 < (10)
2

6

8
J 2f(x) dx 2>
6

(a)12 (b)24 ()43 (d)86

Ok ?.eﬁjJ13 dasal) 4lay) a.g.ag.\l e.gJ.\l
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b

b
I f4f(x)dx:9 f 2f(x) dx = 8 oS3l (11)

C

[

...........fo(x) dx 2

a

r
]> (@ -5 (b) -1 ©1 (@5

DA et Jilan sl f(x) > 7 Vx€[2,5] osil(12)

5
.....f(sf(x) +4) dx
2

(a)57 (b)63 ()75 (d)12

; L 3n® — 4 .
), [1,5] sl e (54 - = Ol s S31(13)

5
.....f(sf(x) +4) dx
1

(a)40 (b)14 ()24 (d)16
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agl [1,4] s e f(x) = 4x— 5 oSl (14)

SR 1 ¥ 7 { N YIRS, YRS DN} gy PO

n—oo

(b)15 (c)3 (d)32
[0,2] 358 Ao f(x) = a3 + 3x? i (15)

oo LM, S, et sena

n—co

(a) —12 (b)7 (c)8 (d)12
3
a >l f (3x%* + 4a)dx =50 (Si(16)
1
(b)4 (©)3 (d)6

2 2
f x> +2fydy dx 4sd sl (17)
1 1

(a)3 (b)4 (o)1 (d) -3

Oy (‘GEJJU dassal) 4laY) ?‘6'“6'“ (sgﬂl

L
I_
o
I_
L
C
W
W
i
Z

00971503393009 - 7- (Cxadl) Omess DA




AN ) A Juadl) dialdl) 4l gall) ol g A jaa
2022/2021 (e Pa) Gl il adiia 12 Cikall

2 £
I c:‘-«e}"\-«éf 4x2—2fy2dy dx =7 & (18)
1 0

I (a)3 (b)2 (c) -2 (d)—3

2
wuéff(x)dx:4 & (19)
1

2
f(f(x +1)—2x+4)dx ... .. ... ...
0

(a)4 (b)0 (c) —8 (d)8
ad)all datl o) L_g}.ali daadll & [1,5] S I\_L.ainf(x) ol (20)
4 o Al eballdadll s — 2 o f(x)

5

N, M 4as Lé nsz(x)dxzm CailS
1

(aA)n=16,m =8 (bn=—-16,m = -8
(c)n =16, m = —8 (dn=-16,m =8
O agd 5l dasaal) 4ay) agagd) agll)
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o wanls [ f(0)dx of o f(x) = 5 + 3sin” = (21)

(a)6,24 (b)7,23

(€)9,28 (d)11,24
f(x)=5-2x:x€[0,5] o (22)
0,1,3,5 (553 camea Lial) psalacall o8

(a)—8 (b) — 9 (©)9 (d)8
f(x)=5—-2x:x€[0,5] ¢ (23)
0,1,3,5 (sl G Ll asalaal) o8

(a) — 8 (b) — 9 (c)9 (d)8
f(x)=3x—x*:x€[0,4] & (24)
0,1,3,4 (s s Lilal) pralaall 42

(@)7 (b) — 4 ©)4 (d)6.5

f(x) =3x—x*:x€[0,4] o (25)
0,1,3,4 (s quua Ldal) galaal) (lé

(a)7 (b) — 4 ()4 (d)6.5
00971503393009 -9- (Cpadl) s A,
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F(x) = 2Vsinx : x € [— —] S (26)

1
2
ff(x)dx... OB ) A Al Al F(x) s
T
4

(c)1 — Ll (d)1+ =

(@)2 — = (b)2 + —= \/_ 5

w/_ \/_

Fix) = E (4x + 1)5 : X € [_71,2] s (27)

f FGOdx ...l ()l LLaY) Aol o F(x) Cam
cC =
m (a)4.9 (b)4 (c)4.5 (d)4.7

- fs Vx2+9dx.. i (28)
m (a)4.9t (b)4An (6)31'[ (d)o
I-l-l X Hsmas f(x) = 2x — 2 Gw b sanall daludl 225 (29)

X=4,x = 2 (et g
(a)7 (b)8 (0)11 (d)10

Z

00971503393009 ~10- (Cradl) Comn M1
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X s f(x) = X — 2 003 sasall dalid) 2241 (30)

X=6,x = 0 el
(a)7 (b)8 ()11 (d)10

X sy f(X) = 4 — X% Op 8 sanall daluad) 2a i (31)

Y = —1 ’x = 1u5‘°ﬁ“‘°'“5
22 22 22
(b)? (C)T (d)7

X osmas f(X) = 4 — x?% On 3 sandl daliudl a4 (32)

x €[0,4] &
(a)11 (b)14 (c)16 (d)10

00971503393009 ~11- (Cradl) Comn M1
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—rAllBal) dilaiall Aaluws 234l (34)

{1,1)

©> @

- ALl Adhaiall dablow a3 i (35)

y=~fx

1

2
(b)4 ©)3

LU ag8 5 9 dasaial) 4lal) agagll aglll
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—rAllBal) dilaiall Aalws 2341 (36)

Y= SInx

- Al Ashaiall dablew 33l (37)

y=2

y=1+ Ll?‘v\

(b)m (©) gn (d) g

i
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—rAlllel) dibial) dalua 236 (38)

y=3x*—-3,-2<x<2 &

e AR h -1 D

(b)8 (c)12 (d)13
-4l AShiall dalew 331 (39)

y=x*-1,0<x<2 &

15 14 16

00971503393009 ~14- (Cradl) Comn M1




AN ) A Juadl) dialdl) 4l gall) ol g A jaa
2022/2021 (e Pa) Gl il adiia 12 Cikall

6
J‘ f(x)dx s (40)
5

N

2.7 7.7 7.7

7.7
(a) T2 (b)T (c) 3 (d) T3

3
J‘ f(x)dx = (41)
2

1
I

(a)2 (b1 (c)—-1 (d)—-2
O (-\ééjJ‘J daaal) AaY| agagd) agll
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Ul 5 yidl) 3 Aol Al gidl) dagill sl (42)

x+4 ,—4<x<-1

r={" 14 —1<x<2 %2

| H

~
b
N

N3

5
®: @ @

o) 510,12] o Aaa A f & ¢« H(x) = [ f(Ddt & sasks : (43)

o] ) e
\ | | H(0) 24l (1)

T T BuI S H 0sSi B8 gl e (2)

o) € AoV | aha H Aade 098 558 ol o (3)
o) € Al A sa H(12) S (3)
LA T palial) Whad e H Juasi o (4)

LA E gl Wiad e B Juani (il (226)

o
I_
L

AT agd ) 5 Aasauall ey agagd) agll
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